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3.2 - Polynomial Functions and their Graphs

End Behavior .
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Zeros of a polynomial function correspond to the x-intercepts of its graph.
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1 Only one of the following four graphs could be the graph of a polynomial function. Which one? Why are the others not
graphs of polynomials? (Select all that apply.)

Polynomials are continuous and smooth.
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Which of the following statements couldn't possibly be true about the polynomial function P?

(a) P has degree 3, two local maxima, and two local minima.
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(c) P has degree 4, one local maximum, and no local minima. o
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https://harryzaims.com/public_html/121-online/1340-online-fall-23/videos/Chapter-3/3-02/video/02-Zeros-and-Factors.mp4
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Sketch the graph of each function by transforming the graph of an appropriate function of the form y = x” from the graphs below. (Select Update Graph to see you
response plotted on the screen. Select the Submit button to grade your response.)
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A polynomial function is given.
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{a) Describe the end behavier of the polynomial function. Kl‘_—i}
(b} Match the polynomial function with one of the following graphs.
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(3) Describe the end behavior of the palynomial function.
(b} Match the polynomial function with one of the following graphs.
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Sketch the graph of the polynomial function. Make sure your graph shows all intercepts and exhibits the proper end

behavior.
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Sketch the graph of the polynomial function. Make sure your graph shows all intercepts and exhibits the proper end
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Sketch the graph of the polynomial function. Make sure your graph shows all intercepts and exhibits the proper end

behavior.
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Sketch the graph of the polynomial function. Make sure your graph shows all intercepts and exhibits the proper end
behavior.
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Sketch the graph of the polynomial function. Make sure your graph shows all intercepts and exhibits the proper end
behavior.
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Sketch the graph of the polynomial function. Make sure your graph shows all intercepts and exhibits the proper end
behavior.
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Sketch the graph of the polynomial function. Make sure your graph shows all intercepts and exhibits the proper end
behavior.
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Factor the polynomial and use the factored form to find the zeros. (Enter your answers as a comma-separated list. Enter all
answers using the appropriate multiplicities.)
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A graphing device is recommended.

Graphing Calculator will

Graph the polynomial in the given viewing rectangle. clobber thiS

29 ;

y=x>—ox?, [-2, 11] by [-130, 130]

Find the coordinates of all local extrema, rounded to two decimal places. (If an answer does not exist, enter DNE.)
State the domain and range. (Enter your answers using interval notation. Round your answers to two decimal places.)

Desmos can not be relied upon for 2-digit precision. It rounds to 3 places
(afaik), which can be a bad number to try to round to 2 places, sometimes.

Wolfram Alpha will clobber these with "extrema of"

https://www.wolframalpha.com/input?i=extrema+of+x%5E3-9x%5E2

12


https://www.wolframalpha.com/input?i=extrema+of+x%5E3-9x%5E2

	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

